Unit 3: Introduction to Functions

PRE-TEST

For each of the following functions:

A. Explain why it is, or why it is not a function based on the information provided.
B. If it is a function, then provide the Domain and Range for that function.
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Given the following functions find the indicated function notation:

5(£) =~ ~5(=)#+2
S (-s) = A5+2

[30-5) =27]

f(x)=—-5x+2 glx) = 2x*+3x—6
4. f(4) 6.9(—3) j(~5)= 203)%1363) —6
S = ~5(4) 12 3(5)—x{9)—? ~6
Flu) = ~20+2 g(-3) = 18 =74
g(-3) * 7-¢
Fla = i) jnes
5. f(=5) 7.9 o(7) = 2(2)*+3(7) ~¢C

§(2) 24D+ A1~ 6
jm )= 98 uwé
)(7): 19
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Find the slope of the line:

Find the slope of the line through each pair of points:

9.(~17,12) & (=8,—15)
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slg=iy | migel 27
M= -¢—(17) ~%t17 9

[m = ”3\

10. (14, —20) & (18,—13)
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Write the Linear Equation given the following information:
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11. Through (-1, 0) with slope =5 12. Slope = -4 and y-intercept = -2
Equation form: Point-Slope Equation form: Slope-Intercept
y-0 = 5(x=(N) 4 = 4K +{H)
y-0= 5 (x+ [y =~ —2\
= A ——
Write the Slope-Intercept form of the Linear Equation through the given points:
13.(0,2) & (—4,-3 14. (—5,5) & (3,—4)
Y Xa Yz % % X2 §z
m=37( 2372 -5 . 5 I e T o R
“¢~¢o) ~ ~¥=a " 7 "3y 3is e
Using (9, 2) Using (-4,-3) u_w,\? ( 5 5) lls‘/vqj (3,-4)
2= F(o) +h 3= (-a)+b | 5= g(s)+b =4 = F(8)+h
: : A aiif & <2,
2=0 +bh “3=-5+) §=1 4+ 7= ng
3 -;b §v~w-~~t—5~———ﬁ - —ys +£Z +£Z
~' 2=} s ¥ A
- =
— 5 7 b F b
)
=2 X + A N N
Jwrrr] 9= wE =]
Sketch the graph of the line:
15. x-intercept = -3 and y-intercept =5
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For each of the following:

A. Create a T-Chart containing values whenx=-5,0,and §
B. Sketch the graph of the line plotting each point found in part A.
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